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Question Number : 1 Question Id : 2105297785 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A teacher uses a question-answer session to ensure desired learning outcomes in his/her
classroom. In this process, he/she offers the following type of comment to a few answers given

by a student:
“Yes, you are right, good'
This will be considered as an example of

1. Positive feedback

2. Negative feedback

3. Confirmatory feedback
4, Carrective feedback

Options :

21052930601. 1
21052930602. 2
21052930603. 3
21052930604. 4

Question Number : 1 Question Id : 2105297785 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930601. 1
21052930602. 2
21052930603. 3
21052930604. 4

Question Number : 2 Question Id : 2105297786 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In the cognitive domain of teaching-learning objectives, which will be categorized as a higher

type of learning outcomes?

A. Knowledge and comprehension

B. Analysis of conceptual elements

C. Application of acquired knowledge and skills

D. Synthesis involving the creative organization of ideas

E. Evaluation involving judgment using internal or external standards
Choose the correct answer from the options given below:

1. A B and C only
2.B,Cand D only
3.C, D and E only
4.B, D and E only

Options :

21052930605. 1
21052930606. 2
21052930607. 3
21052930608. 4

Question Number : 2 Question Id : 2105297786 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fRrefur-SifeFr el & Ugmed o o, Feifed § 8 fod e uRomt & I5at UeR & &4
o Hffepe feban wmem

A T 3R Jaaly

B. HGYRUIHD cIedl DI AReTq0l

C. 3foict 1 SR DIl BT SFIErT

D. XY i faR &1 oo oawdl Mg gl

E. i i STdRe Td &g AFd! & SR gR v feran T &
T few 7 fadedl # 4 w81 I g

1. BAA, B AR C
2. $ad B, C AR D
3.%aaC D ARE
4. $aAB, D ARE

Options :

21052930605. 1
21052930606. 2
21052930607. 3

21052930608. 4

Question Number : 3 Question Id : 2105297787 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement I: Maximum performance tests are designed to assess the upper limits of the

examinees’ knowledge and ability

Statement Il: Typical response tests are designed to measure specific behaviours and

characteristics of examinees

In light of the above statements, choose the most appropriate answer from the options given

below

1. Both Statement | and Statement |l are true

2. Both Statement | and Statement || are false

3. Statement | is correct but Statement |l is false
4, Statement | is incorrect but Statement Il is true

Options:

210529306009. 1
21052930610. 2
21052930611. 3

21052930612. 4

Question Number : 3 Question Id : 2105297787 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052930609. 1

21052930610. 2



21052930611. 3
21052930612. 4

Question Number : 4 Question Id : 2105297788 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List | with List Il

List | List 1l

Behavioural teaching competencies Description

, . Optimizing 'on task’ and minimizing 'off task’
A. Instructing it
activities

SR ot IIl. Watching groups, behaviours and pace etc.
el and reacting quickly

— lll. Using methods and activities by the teacher
. Managin _
N3 to promote learning

s IV. Transmitting thoughts and ideas verbally and
. Monitorin
2 non-verbally

Choose the correct answer from the options given below:

T.A-1LB-ILC-IILD-IV
ZA-IVB-NL,C-1,D-1I
JA-ILB-IV,C-L,D-
4A-ILB-L,C-1V,D-1l

Options :

21052930613. 1
21052930614. 2
21052930615. 3

21052930616. 4

Question Number : 4 Question Id : 2105297788 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options:

21052930613. 1
21052930614. 2
21052930615. 3

21052930616. 4

Question Number : 5 Question Id : 2105297789 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Evaluation is said to be formative when the intention is to identify scope and
potential for improvement of teaching-learning system

Reason R: The form of such evaluation is informal and has to take place during
instruction/teaching

In light of the above statements, choose the correct answer from the opticns given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true



Options :

21052930617. 1
21052930618. 2
21052930619. 3
21052930620. 4

Question Number : 5 Question Id : 2105297789 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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21052930617. 1
21052930618. 2
21052930619. 3

21052930620. 4

Question Number : 6 Question Id : 2105297790 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In which research method manipulation of ‘independent variable’ and control of ‘extraneous
variables' are neither possible nor desirable?

1. Experimental method

2. Ex post facto method

3. Historical method

4. Descriptive survey method

Options :

21052930621. 1
21052930622. 2
21052930623. 3

21052930624. 4

Question Number : 6 Question Id : 2105297790 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930621. 1
21052930622. 2
21052930623. 3

21052930624. 4

Question Number : 7 Question Id : 2105297791 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify those statements which describe the characteristic features of qualitative research

paradigm

A. Researchers tend to analyze their data inductively

B. The substantive research hypothesis is tested via Null hypothesis
C. Data take the form of words or pictures

D. Actual settings are the direct source of data

E. It assumes that there are social facts with a single objective reality
Choose the correct answer from the options given below:

1. A B and C only
2. A B and E only
3.B, Cand E only
4. A, Cand D only

Options :

21052930625. 1
21052930626. 2
21052930627. 3
21052930628. 4

Question Number : 7 Question Id : 2105297791 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930625. 1
21052930626. 2
21052930627. 3

21052930628. 4

Question Number : 8 Question Id : 2105297792 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In quantitative research paradigm which of the following sampling methods are given

preference?

A. Simple random sampling

B. Stratified sampling

C. Quota sampling

D. Snowball sampling

E. Systematic sampling

Choose the correct answer from the options given below:

1. A B and C only
2. A B and E only
3.B,Cand D only
4.C,Dand E only

Options :

21052930629. 1
21052930630. 2
21052930631. 3
21052930632. 4

Question Number : 8 Question Id : 2105297792 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930629. 1
21052930630. 2
21052930631. 3

21052930632. 4

Question Number : 9 Question Id : 2105297793 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List I with List Il

List | List Il

Research concepts Description

| It is statistical test that does not make

A. Hypothesis ,
assumptions about the parameters

II. Device using which data are collected in
B. Sample

research
C. Research tool lll. A subset drawn from a larger set to represent it
D. Non-parametric tests IVV. A tentative statement indicating relationship

between two or more than two variables

Choose the correct answer from the options given below:

TA-IV,B-NLC-1,D-1
ZA-LB-1LC-LD-V
3A-ILB-1LC-IV,D-1l
4 A-I,B-IV,C-1,D-1

Options :

21052930633. 1
21052930634. 2
21052930635. 3
21052930636. 4

Question Number : 9 Question Id : 2105297793 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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4 A-,B-IV,C-I,D-1l

Options:

21052930633. 1
21052930634. 2
21052930635. 3

21052930636. 4

Question Number : 10 Question Id : 2105297794 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: A cross break is a numerical tabular presentation of data usually in frequency or
percentage form in which variables are cross-partitioned to study relations between them
Reason R: The categories are set up according to the research hypothesis

In light of the above statements, choose the most appropriate answer from the options

given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options:

21052930637. 1
21052930638. 2
21052930639. 3

21052930640. 4

Question Number : 10 Question Id : 2105297794 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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21052930638. 2



21052930639. 3
21052930640. 4

Sub-Section Number : 2
Sub-Section Id : 210529296
Question Shuffling Allowed : Yes

Question Id : 2105297795 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (11 to 15)

Question Label : Comprehension



Read the given passage carefully and answer the questions that follow

Much is still unknown about human behavior. Unanswered questions remain and further
research is necessary. Knowledge about motivation, leader behavior, and change will continue
to be of great concern to practitioners of management for several reasons: It can help improve
the effective leadership of human resources; it can help in preventing resistance to change,
restriction to output, and personnel disputes; and often it can lead to a more productive
organization. Our intention has been to provide a conceptual framework that may be useful to
you in applying the conclusions of the behavior sciences. The value that a framework of this
kind has is not in changing one's knowledge, but in changing one's behavior in working with
people.

We have discussed three basic competencies in influencing: diagnosing - being able to
understand and interpret the situation you are attempting to influence; adapting - being able
to adapt your behavior and the resources you control to the contingencies of the situation;
and communicating - being able to put the message in such a way that people can easily
understand and accept it. Each of these competencies is different and requires a different
developmental approach. For example, diagnosing is cognitive or of the mind in nature and
requires thinking skills; adapting is behavioral in nature and requires behavioral practice; and
communicating is process-criented and requires learning and interrelating the key steps in the
process. Because these three competencies require different knowledge and skills, how do we
continue the process that we started with.

The key to starting the process of changing behavior is sharing what you have learned with
other people in your own organization. Two things occur when people who work together all
have a common language. First, they are able to give each other feedback and help in a very
rational, unemotional way that effects behavior.

Second, when followers start to realize that if their manager is using situational leadership, it is
not the manager, but their behavior, that determines the leadership style to be used with
them.

Sub questions

Question Number : 11 Question Id : 2105297796 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following prohibits resistance to change?

1. Knowledge of leader behaviour
2. Removing restriction on output
3. Personnel disputes

4. Non-productive organisation

Options :

21052930641. 1
21052930642. 2
21052930643. 3

21052930644. 4

Question Number : 12 Question Id : 2105297797 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the value outcome of applying a theoretical framework of behavioral science?

1. Changes in one’s own knowledge

2. Change in one's behavior while working with others
3. Not understandable human behaviour

4. Emergence of value-loaded framewok

Options :

21052930645. 1
21052930646. 2
21052930647. 3

21052930648. 4

Question Number : 13 Question Id : 2105297798 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Each of the basic competencies needs

1. Exclusivity

2. Situational contingency

3. Inter-relation with others

4. A different approach in acquiring it

Options :

21052930649. 1
21052930650. 2
21052930651. 3

21052930652. 4

Question Number : 14 Question Id : 2105297799 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What prompts a change in a person's behaviour?

1. Leadership style

2. Situational support to the managers

3. Sharing of learning outcomes with others in the organization
4. Segregation of competencies

Options :

21052930653. 1
21052930654. 2
21052930655. 3

21052930656. 4

Question Number : 15 Question Id : 2105297800 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The inferences that can be drawn from the passage are

A. Common language among people in an organization will ensure unbiased feedback
B. People are known for fluctuating behaviour

C. People’s behaviour influences the leader

D. Emotions and human behaviour are separate and easily explicable

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. Cand D only
4. A and Conly

Options :

21052930657. 1
21052930658. 2
21052930659. 3

21052930660. 4

Question Id : 2105297795 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (11 to 15)

Question Label : Comprehension
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Sub questions

Question Number : 11 Question Id : 2105297796 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930641. 1
21052930642. 2
21052930643. 3

21052930644. 4

Question Number : 12 Question Id : 2105297797 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930645. 1
21052930646. 2
21052930647. 3

21052930648. 4

Question Number : 13 Question Id : 2105297798 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930649. 1
21052930650. 2
21052930651. 3
21052930652. 4

Question Number : 14 Question Id : 2105297799 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930653. 1
21052930654. 2
21052930655. 3

21052930656. 4

Question Number : 15 Question Id : 2105297800 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



e °§ 94T e e g ¢
A. TiTe H Ud 9o 9T aic] arll O U&UTd Jed Bisdd M

B. TNl & o4deR H URda- gidl &dl &

C. TNl @1 SdeR Hg dI WHIfdd Bl &

D. HIGTE 31 A3 TTeR STH1-3T & 3113 390 caRedl 39H! | &1 ofl 9@dl &
To! fa®ed &1 904 @y ;

1. Had A 3R B
2. HaAB AR C
3. HAAC IR D
4. HAAA R C

Options :

21052930657. 1
21052930658. 2
21052930659. 3

21052930660. 4

Sub-Section Number : 3
Sub-Section Id : 210529297
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 2105297801 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

When communication meets the aims and objectives of classroom teaching, it becomes

1. Extra-ordinary
2. Personal

3. Functional

4. Obligatory

Options :

21052930661. 1
21052930662. 2
21052930663. 3



21052930664. 4

Question Number : 16 Question Id : 2105297801 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
o YUWUT HaIFTd T80 & I3l Bl G & &dl & o Je -

1. AGURM §I Il &
2. JOldds sl ol &
3. PATED ol odl &

Options :

21052930661. 1
21052930662. 2
21052930663. 3

21052930664. 4

Question Number : 17 Question Id : 2105297802 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following can be considered as psychological barriers to effective
communication?

A. Descriptive message

B. Inattentiveness

C. Too much reliance on the written word

D. Limited retention

E. Logical organization

F. Flow of thought

Choose the correct answer from the options given below:

1. A B and C only
2.B,Cand D only
3.C, D and E only
4.D, Eand F only

Options :

21052930665. 1
21052930666. 2
21052930667. 3

21052930668. 4

Question Number : 17 Question Id : 2105297802 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafeiad # € gHIdl §unT & [ fod A-aeiHe Sy ol o §odl ¢ ?
A. TOHIED Jox

B. SUH-EDI

c. foRad 2l W aif¥e R

D. Hiffd ufauRor

E. Tlihed oqa=ITT

F. f[arf &1 uae

eI [dhey &l 9g &

1. HadA A, B3R C
2. HaaB, C3RD
3. ®aAC, D 3ARE
4. HaAD, E3ARF

Options:

21052930665. 1
21052930666. 2
21052930667. 3

21052930668. 4

Question Number : 18 Question Id : 2105297803 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Human touch in communication enables students to become participatory
Reason R: In a technology-driven classroom environment, the communicative role of a teacher
is secondary

In light of the above statements, choose the correct answer from the opticns given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true



Options :

21052930669. 1
21052930670. 2
21052930671. 3
21052930672. 4

Question Number : 18 Question Id : 2105297803 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

e & HY fRT MU § - Ugah Sifiiaed (A) R G0 (R) B

HiTHYA () Guun § AHdE ug [enfdal & ggyrl a9 B |

a® (R) : U Sarferd Hafig akas # s(emue of Yuvonerd YiH®! Gags oidl o
Sude Bl & s & Fgifed o 3§ Gaiie SUgH TR E -

1. (A) 31X (R) GHT T8I 8 1R (R), (A) BT T A B

. (A) 3R (R) GFI W1 € 3R (R), (A) BT Tel SRS 0 &
(A) F&l & U (R) 7TeTd

. (A) TTEd & TR (R) Hel o

Options:

da L o

21052930669. 1
21052930670. 2
21052930671. 3

21052930672. 4

Question Number : 19 Question Id : 2105297804 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List 1 with List 1l

List | List 11

Type of communication Characteristics

A. Vertical . Feedback oriented
B. Horizontal II. Inter-personal

C. Circular . Top-down

D. Transactional IV. Rumour-oriented

Choose the correct answer from the options given below:

TA-LB-ILC-IILD-IV
2ZA-ILB-ULC-IV,D-|
SA-IILB-V,C-1,D-1I
4 A-IV,B-I,C-1,D- 1l

Options:

21052930673. 1
21052930674. 2
21052930675. 3
21052930676. 4

Question Number : 19 Question Id : 2105297804 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Gail-1 AR Gdi-11 T YT DY -

g1 -1l

U0 & UHR fa=iwan

A, iy 1. AT Widgd (Bled®)
B. &fds I1. 3R - dufda®

C. gulg . FR Y A

D. fepari-afdue Iv. HHGTUET 3wdre
fafaiad 9ol © § 981 3T @1 904 & ;

TA-LB-ILC-IILD-IV
ZA-ILB-HULC-IV,D-I|
3A-IILB-V,C-1,D-1
4 A-IV,B-I,C-1I,D- 1l



Options :

21052930673. 1
21052930674. 2
21052930675. 3
21052930676. 4

Question Number : 20 Question Id : 2105297805 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements

Statement I: Persuasive communication by a teacher in the classroom is intended to make
his/her version of information acceptable to students

Statement Il: If it happens at the institutional level, the purpose behind it is image building

In light of the above statements, choose the most appropriate answer from the options given

below

1. Both Statement | and Statement |l are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement |l is false
4, Statement | is false but Statement Il is true

Options:

21052930677. 1
21052930678. 2
21052930679. 3

21052930680. 4

Question Number : 20 Question Id : 2105297805 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



&l HY R g
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Il YAl & 3HTeiie J FHHifhd bl H T Gaiite JUgHE 3w 3 -

1. 0% | 3R 11 GF T8l g
2. T | AR 1| &H TTad B
3. Y- Tgl b, fobwg HYH-1 TTeid B
4, PYH-1 7T €, fdow HYA-11 TSI 2

Options :

21052930677. 1
21052930678. 2
21052930679. 3

21052930680. 4

Question Number : 21 Question Id : 2105297806 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A man is 30 years older than his son. Five years ago, his age was 6 times the age of his son.

The age of the son is

1.10 years
2. 11 years
3. 12 years
4,15 years

Options :

21052930681. 1
21052930682. 2
21052930683. 3

21052930684. 4

Question Number : 21 Question Id : 2105297806 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No



Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

T A 1 1 A A 1 o 30 o 31 e o e, 3 g o T g
GW%?“ qa{ﬁ&rrqﬁa—ﬁ%’“

1.10 T4
2119
31299
41539

Options :

21052930681. 1
21052930682. 2
21052930683. 3

21052930684. 4

Question Number : 22 Question Id : 2105297807 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the next term in the following series?

4,12, 28, 52,

76
24
98
104

e

o b Pl

Options:

21052930685. 1
21052930686. 2
21052930687. 3
21052930688. 4

Question Number : 22 Question Id : 2105297807 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
fFgifed saan & srTel g e gt ¢

4,12, 28, 52

76
24
98
104

e}

b DY

Options :

21052930685. 1
21052930686. 2
21052930687. 3

21052930688. 4

Question Number : 23 Question Id : 2105297808 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A motorist travels to a place 150km away at an average speed of 50km/hour and returns at a
speed of 30km/hour. His average speed for the whole journey is

1. 35 km/hour
2. 37.5 km/hour
3. 40 km/hour
4 425 km/hour

Options :

21052930689. 1
21052930690. 2
21052930691. 3
21052930692. 4

Question Number : 23 Question Id : 2105297808 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. 35 Tdeit / gt
2. 37.5 Todil / YeT
3. 40 fbHt / Her
4, 42 5 fobHt / der

Options :

21052930689. 1
21052930690. 2
21052930691. 3
21052930692. 4

Question Number : 24 Question Id : 2105297809 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A sum of money earning compound interest annually doubles itself after 4 years. What is the
rate of interest?

2

—d
[ B o = T s -
b -~ -
0o 0o 0o 0o

1.

35
553
s

—

Options :

21052930693. 1
21052930694. 2
21052930695. 3
21052930696. 4

Question Number : 24 Question Id : 2105297809 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



i3 8 AR forg W aiftics ¥4 U IhdfS oF1el o1l &, 4 a9 & U g1 &1 ol 6| o7 1

1.~14 %
2. ~19%
3.~18%
4 ~15%
Options :

21052930693. 1
21052930694. 2
21052930695. 3

21052930696. 4

Question Number : 25 Question Id : 2105297810 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the following letter series, the next term is
bdf, eqgi, hjl,

1. kmo
2. jmp
3. ilo

4, kno

Options :

21052930697. 1
21052930698. 2
21052930699. 3
21052930700. 4

Question Number : 25 Question Id : 2105297810 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fyoiftra 2o 9@am &, 3FTem UG @41 BHM
bdf, eqi, hjl, __

1. kmo
2. jmp
3. ilo

4 kno

Options :

21052930697. 1
21052930698. 2
21052930699. 3

21052930700. 4

Question Number : 26 Question Id : 2105297811 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements

Statement I: All knowledge is a recollection. It is true on a certain account

Statement lI: All men by nature, desire understanding

In light of the above statements, choose the most appropriate answer from the options given

below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true

Options :

21052930701. 1
21052930702. 2
21052930703. 3

21052930704. 4

Question Number : 26 Question Id : 2105297811 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

B IE A AR AR
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1. @Y | AR 1 SHf el gl

2. @Y | AR 1| Ff Tad g

3. Y- 9d g, foog dYA-11 7Ted &
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Options :

21052930701. 1
21052930702. 2
21052930703. 3

21052930704. 4

Question Number : 27 Question Id : 2105297812 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements

Statement I: When | look deep into myself, | always stumble with one perception or another. |
can never catch myself

Statement Il: Self is the logical presupposition of all knowledge. Therefore, the concepts like
substance and person can not be applied to it.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are true
2. Both Statement | and Statement || are false
3. Statement | is true but Statement |l is false
4 Statement | is false but Statement Il is true

Options :



21052930705. 1
21052930706. 2
21052930707. 3
21052930708. 4

Question Number : 27 Question Id : 2105297812 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
44 &l HYF G R

U1 : T8 § 30 S0 T bl § ol BHRN U 1 GO HGURUN Y e Al 5 | ot off
WY Bl UHs el ISl £
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1. ®Y | IR || GH Ge1 &1
2. B | IR GHI Taa 8
3. ®YA-1 9 &, o Y- T & |
4, BY-| G &, g HY-1 TEI B

Options :

21052930705. 1
21052930706. 2
21052930707. 3

21052930708. 4

Question Number : 28 Question Id : 2105297813 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement I: Different communities exist independent of one another but jointly somehow

they give an idea of communitarian life of a society

Statement |I: Earth exists either through a blind chance or through an inner necessity or

through an external cause

In light of the above statements, choose the most appropriate answer from the options given

below

1. Both Statement | and Statement |l are true
2. Both Statement | and Statement || are false
3. Statement | is true but Statement |l is false
4, Statement | is false but Statement Il is true

Options:

210529307009. 1
21052930710. 2
21052930711.3

21052930712. 4

Question Number : 28 Question Id : 2105297813 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930709. 1



21052930710. 2
21052930711. 3

21052930712. 4

Question Number : 29 Question Id : 2105297814 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match List 1 with List 11

List | List 11
(Concepts) (5chools)

A. Mirvana . Sankhya

B. Nihshreyasa Il. Jainism

C. Apavarga 1. Upanishads
D. Moksha V. Buddhism

Choose the correct answer from the options given below:

T.A-IV,B-I,C-1l,D-1
ZA-1,B-ILC-IV,D-llI
JA-ILB-LC-IILD- W
4A-IILB-IV,C-1I,D-1|

Options :

21052930713. 1
21052930714. 2
21052930715. 3
21052930716. 4

Question Number : 29 Question Id : 2105297814 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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il U U faseul 9§ gel 3w &1 90 BIfofu :

TA-IV,B-LC-II,D-|
2ZA-,B-ILC-1V,D-1l
SA-ILB-LC-IILD- IV
4 A-1ILB-IV,C-1I,D-|

Options:

21052930713. 1
21052930714. 2
21052930715. 3
21052930716. 4

Question Number : 30 Question Id : 2105297815 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Deduction proceeds from

1. Particular to universal
2. Universal to particular
3. Particular to particular
4. Universal to universal

Options :

21052930717. 1
21052930718. 2
21052930719. 3

21052930720. 4



Question Number : 30 Question Id : 2105297815 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
AT e Ug Bi & -

1. 329 G grdyig 31 3R
2. gra19 ¥ 339 &1 3R
3. f92y U faiy &1 3}

4, GIEHH § GrEyH &1 3R
Options :

21052930717. 1
21052930718. 2
21052930719. 3

21052930720. 4

Sub-Section Number : 4
Sub-Section Id : 210529298
Question Shuffling Allowed : Yes

Question Id : 2105297816 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (31 to 35)

Question Label : Comprehension

Study the data given in the table and answer the questions that follow

The following table shows the monthly reporting of patients for different diseases to three
hospitals in a city

Disease/Hospital Hospital A | Hospital B | Hospital C
Heart Attack 320 240 360
Blood Sugar 650 1350 1950

Blood Pressure 700 1400 2100

Kidney Problems 210 420 630




Sub questions

Question Number : 31 Question Id : 2105297817 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the percentage of number of patients reporting for blood sugar compared to the total
patients in all three hospitals?

1.~ 25.90 %
2.~ 38.24 %
3.~ 3942 %
4 ~3512%
Options :

21052930721. 1
21052930722. 2
21052930723. 3
21052930724. 4

Question Number : 32 Question Id : 2105297818 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the average number of patients for the least reported disease?

1. ~ 415.2
2 ~ 3254
3.~ 391.7
4, ~ 306.6
Options :

21052930725. 1
21052930726. 2
21052930727. 3
21052930728. 4



Question Number : 33 Question Id : 2105297819 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the percentage increase in the number of patients reporting heart attacks from
hospital A to hospital C?

1.125%
2.132%
3.11.9 %
4.92%

Options :

21052930729. 1
21052930730. 2
21052930731.3
21052930732. 4

Question Number : 34 Question Id : 2105297820 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

For patients reporting for kidney problems, what is the ratio of the number of patients
reporting at hospital A and those reporting at hospital C?

123
2.34
313
415

Options:

21052930733. 1
21052930734. 2
21052930735.3

21052930736. 4

Question Number : 35 Question Id : 2105297821 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the percentage increase in the total number of patients from hospital A to

hospital C?
1.~120 %
2.~ 168 %
3.~ 141 %
4 ~ 145 %
Options :

21052930737.1
21052930738. 2
21052930739. 3

21052930740. 4

Question Id : 2105297816 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (31 to 35)
Question Label : Comprehension

forifera aferet & foredt wer & 9 aremare & Pm-fi T & 3 3t wfte SHeRt
TNt TS &1 AifereT & U T Sl F MR W AN $IWE:

3T/ ST AT (B) | SRUdE (@) | S ()
EARIEIG| 320 240 360
BEHH 650 1350 1950
e 700 1400 2100
el Faet 3 210 420 630

Sub questions

Question Number : 31 Question Id : 2105297817 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
Gl i regaral § oo AT o o H gyHe 9 Uifsd ARl o 9 &1 ufard fba 82

1.~ 25.90 %
2.~ 38.24 %
3.~3942%
4 ~3512%
Options :

21052930721.1
21052930722. 2
21052930723. 3
21052930724. 4

Question Number : 32 Question Id : 2105297818 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
a9 & giad W & AR B i ed T fvdHl g 2

1. ~ 415.2
2.~ 3254
3.~ 391.7
4 ~ 306.6
Options :

21052930725. 1
21052930726. 2
21052930727. 3

21052930728. 4

Question Number : 33 Question Id : 2105297819 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



ST & DI goT H Sl 1§ gedrard ARl &t ufdard gig foaii g 7

oyt
ral

5
2 %
9
%

e

=]
=]

.|

12.
13.
11

(=
=)

.-

b P

9.2 f’:f
Options :

21052930729. 1
21052930730. 2
21052930731. 3

21052930732. 4

Question Number : 34 Question Id : 2105297820 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
&1 M & SUER & f0 STHare ATl & Yot H SRTdId (@) ¥ SR (7) & §d S0
fHa1 &7

1.2:3
2. 34
3.1:3
415

Options :

21052930733. 1
21052930734. 2
21052930735. 3

21052930736. 4

Question Number : 35 Question Id : 2105297821 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. ~120 %
2.~ 168 %
3.~ 141 %
4. ~ 145 %
Options :

21052930737.1
21052930738. 2
21052930739. 3
21052930740. 4

Sub-Section Number : 5
Sub-Section Id : 210529299
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 2105297822 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the full form of the abbreviation GIF?

1. Graphics Interchange Format
2. Graphics Interchange File

3. Global Interchange Format
4. Graphics Input Format

Options :

21052930741. 1
21052930742. 2
21052930743.3

21052930744. 4

Question Number : 36 Question Id : 2105297822 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
URavil 2 GIF BT RIET TS ?

1. T1pa Seod BIHe
2 mﬁ}ﬂg E’QE&IE hlgd
3. JEE. G E'E»m-ﬁl Eﬁ?ﬂa
4 pay 3YC HBide
Options :
21052930741. 1
21052930742. 2
21052930743. 3

21052930744. 4

Question Number : 37 Question Id : 2105297823 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following correctly lists computer memory types from lowest to highest speed?

1. Main Memory, Cache Memory, Secondary Storage
2. Cache Memory, Secondary Storage, Main Memory
3. Secondary Storage, Main Memory, Cache Memory
4. Secondary Stage, Cache Memory, Main Memory

Options :

21052930745. 1
21052930746. 2
21052930747. 3

21052930748. 4

Question Number : 37 Question Id : 2105297823 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. =1 Hia, 2 Hid, fgdgs Hsru
2. &2 Hia, lgdias veru, 7= |id
3. fadia® veru, 3= ¥fa, &2 Hid
4. fadig® YR, 7 94, 97 ¥id
Options :

21052930745. 1
21052930746. 2
21052930747. 3

21052930748. 4

Question Number : 38 Question Id : 2105297824 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Speed of Internet is measured in

1. GHz
2. Gbps
3. GB
4. dpi

Options :

21052930749. 1
21052930750. 2
21052930751.3

21052930752. 4

Question Number : 38 Question Id : 2105297824 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. GHz
2. Gbps
3. GB
4. dpi

Options :

21052930749. 1
21052930750. 2
21052930751. 3

21052930752. 4

Question Number : 39 Question Id : 2105297825 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Machine Learning requires good quality and sufficient data to train and test the
algorithm

Reason R: For correct classification, good quality data which is free from noise, and sufficient
data is required for training and testing of the algorithm.

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the cerrect explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052930753. 1
21052930754. 2
21052930755. 3
21052930756. 4



Question Number : 39 Question Id : 2105297825 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(A) 3R (R) TFI WE1 € 3R (R), () B el oA1eH] T8 21
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Options :

21052930753. 1
21052930754. 2
21052930755. 3

21052930756. 4

Question Number : 40 Question Id : 2105297826 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Using a websites to pour out one’s grievances is called

1. Cyber venting
2. Web hate

3. Web anger

4. Cyber abuse

Options :
21052930757. 1
21052930758. 2

21052930759. 3



21052930760. 4

Question Number : 40 Question Id : 2105297826 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Jauge @I U o fadl @1 ead & Heiad @ $gl Il & -

1. GIZER afed

2. dgge

3. d9UR

4. GIEeR &GN

Options :

21052930757. 1
21052930758. 2
21052930759. 3
21052930760. 4

Question Number : 41 Question Id : 2105297827 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Lakes are considered to be more susceptible to pollution than rivers
Reason R: Water in lakes may take decade(s) to be replaced

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the cerrect explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :



21052930761. 1
21052930762. 2
21052930763. 3

21052930764. 4

Question Number : 41 Question Id : 2105297827 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

q
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21052930761. 1
21052930762. 2
21052930763. 3
21052930764. 4

Question Number : 42 Question Id : 2105297828 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Thermal reactors produce energy by fission of the following nuclear fuels
A. Uranium-235 (23°0)

B. Uranium-233 (223U)

C. Uranium-238 (2380)

D. Thorium-232 (£2Th)

E. Plutonium-239 (2°py)

Choose the correct answer from the options given below:

1. A, B, Cand E only
2.A B, CDandE
3. A B, DandE only
4. A B and E only

Options :

21052930765. 1
21052930766. 2
21052930767. 3

21052930768. 4

Question Number : 42 Question Id : 2105297828 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A. TIFTH - 235 (235 ) / (B5U)

B. RA4H - 233 (233 9/ (B3U)

C. T - 238 (238 9) / (20U)

D. YiRgH - 232 (232 & @) / (32Th)

E. W9 - 239 (239 U1 g) / (3%u)
FafoRad fameal & © U981 IR @1 99 @s
1. Bad A, B, C 3R E

2. HdAA, B, C,D3HRE

3. Hadd A B D3RE
4. FdaA BIARE

Options :

21052930765. 1
21052930766. 2
21052930767. 3
21052930768. 4

Question Number : 43 Question Id : 2105297829 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Noise pollution is measured in decibels (dB) with reference to a standard sound intensity of
the following magnitude

1.1 pico watt per m*
2.1 milliwatt per m?

3. 1 nanowatt per m?
4,1 microwatt per m?

Options :

21052930769. 1
21052930770. 2
21052930771.3



21052930772. 4

Question Number : 43 Question Id : 2105297829 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930769. 1
21052930770. 2
21052930771.3

21052930772. 4

Question Number : 44 Question Id : 2105297830 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In a polluted urban area, which one of the following has the highest concentration (ppv) in

photochemical smog?

1. Ozone

2. PAN

3. Hydrocarbons (without methane)
4. Carbon monoxide

Options :

21052930773. 1
21052930774. 2
21052930775. 3
21052930776. 4



Question Number : 44 Question Id : 2105297830 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930773. 1
21052930774. 2
21052930775. 3
21052930776. 4

Question Number : 45 Question Id : 2105297831 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List I with List Il

List | List 11

Environmental Protocol/Agreement/Action Plan  |Provisions

|. Integrated water resource

A, Montreal Protocol
management

B. Paris Agreement II. Emissions trading

lll. Phasing out ozone-depleting

C. Climate Action Plan
substances

IV. Intended Nationally Determined

D. Kyoto Protocol e
Contributions

Choose the correct answer from the options given below:

TA-I,B-I,C-1,D-IV
ZA-IL,B-N,C-1,D-IV
3A-ILB-IV,C-1,D-I
4 A-I,B-IV,C-1,D-1

Options:

21052930777. 1
21052930778. 2
21052930779. 3

21052930780. 4

Question Number : 45 Question Id : 2105297831 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



G- I Fai-1l & Yy Ao i :

gdl-| gl-11

lﬁl / e BIEEIE

A HfOd Uieiela || GHfdd SoiareH udye

B. URH THgidl 1. IFoid AR

. e e A WaﬁmH - ard Yardl ol g
D. T Ui v. Fifesd g Feid armer
frgfeafad faseal o ¥ 98 I g -

TA-ILB-ILC-L,D-IV
ZA-ILB-ULC-1,D-IV
SA-ILB-IV,C-1II,D-|
4 A-ILB-IV,C-1,D-1l

Options :

21052930777. 1
21052930778. 2
21052930779. 3

21052930780. 4

Question Number : 46 Question Id : 2105297832 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

The Chinese scholars, I-Qing and Xuan Zang visited ancient Nalanda University during

1. 57 century CE
2. 7" century CE
3. 10% century CE
4.12% century CE

Options :

21052930781. 1
21052930782. 2
21052930783. 3

21052930784. 4



Question Number : 46 Question Id : 2105297832 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930781. 1
21052930782. 2
21052930783. 3

21052930784. 4

Question Number : 47 Question Id : 2105297833 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which year, the Union Government decided that all cases pertaining to the allocation of
grants-in-aid from public funds to the Central Universities and other universities and
institutions of higher learning might be referred to the University Grants Commission?

11952
2. 1953
3. 1954
41956

Options :

21052930785. 1
21052930786. 2
21052930787.3
21052930788. 4



Question Number : 47 Question Id : 2105297833 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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11952
2. 1953
3. 1954
4.1956

Options :

21052930785. 1
21052930786. 2
21052930787. 3

21052930788. 4

Question Number : 48 Question Id : 2105297834 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements
Statement I: Universities are established by Central/State Act under 2(f) of the UGC Act, 1956

Statement II: Deemed to be University is declared by a Notification of the Central
Government, on the advice of the UGC, under section 3 of the UGC Act, 1956

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are true

2. Both Statement | and Statement || are false

3. Statement | is correct but Statement || is false
4, Statement | is incorrect but Statement Il is true

Options :

21052930789. 1



21052930790. 2
21052930791. 3

21052930792. 4

Question Number : 48 Question Id : 2105297834 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930789. 1
21052930790. 2
21052930791. 3
21052930792. 4

Question Number : 49 Question Id : 2105297835 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



According to the International Commission on Education for the Twenty-first Century headed
by Jacques Delors, which of the following main tensions will be witnessed during the 21

century?

A. The tension between the global and the local

B. The tension between tradition and modernity

C. The tension between the spiritual and the material

D. The tension between the poor and the rich

E. The tension between the developed and the developing societies
Choose the correct answer from the options given below:

1. A B and C only
2.B,Cand D only
3.C, D and E only
4. A Dand E only

Options :

21052930793. 1
21052930794. 2
21052930795. 3
21052930796. 4

Question Number : 49 Question Id : 2105297835 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930793. 1
21052930794. 2
21052930795. 3

21052930796. 4

Question Number : 50 Question Id : 2105297836 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List I with List Il

List | List Il

Categories of environmental educationExamples of those objectives
objectives

. To help social groups and individuals identify

A, Environmental Awareness ;
and solve environmental problems

II. To help social groups and individuals acquire a

B. Environmental Knowledge )
set of values for the environment

, ) lll. To help social groups and individuals acquire a
C. Environmental Attitude L ,
sensitivity to the total environment

IVV. To help social groups and individuals gain a
D. Environmental Skill variety of experience in environment and its
associated problems

Choose the correct answer from the options given below:

TLA-ILB-1,C-I,D-IV
ZA-LB-UL,C-IV,D-I
3A-IV,B-ILC-1,D-1
4 A-I,B-V,C-1Il, D-1I

Options:

21052930797. 1
21052930798. 2
21052930799. 3
21052930800. 4

Question Number : 50 Question Id : 2105297836 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-ILB-C-1ILD-IV
ZA-1LB-ILC-IV,D-I
3A-IV,B-1,C-1,D-1lI
4A-,B-IV,C-1Il, D-1I

Options:

21052930797. 1
21052930798. 2
21052930799. 3

21052930800. 4

PART II Physical Education

Section Id : 21052994
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92

Section Marks : 200



Display Number Panel : Yes

Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 210529300
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 2105297837 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The discipline of Physical Education has its primary focus on the study of

1. Human performance in exercise and sports

2. Fitness of individuals

3. Human movement
4. Health and wellness of human beings

Options :

21052930801. 1
21052930802. 2
21052930803. 3

21052930804. 4

Question Number : 51 Question Id : 2105297837 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

a1

21052930801. 1



21052930802. 2
21052930803. 3
21052930804. 4

Question Number : 52 Question Id : 2105297838 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Achievement of neuromuscular development objective of physical education can be tested by

1. 800 yards run

2. Johnson Basketball Ability Test

3. Scott Badminton Knowledge Test
4. Sportsmanship Attitude Scale

Options :

21052930805. 1
21052930806. 2
21052930807. 3
21052930808. 4

Question Number : 52 Question Id : 2105297838 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052930805. 1
21052930806. 2

21052930807. 3



21052930808. 4

Question Number : 53 Question Id : 2105297839 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The question like "Why should | play football?" is discussed in the specific branch of

philosophy known as

1. Metaphysics
2. Axiology

3. Epistemology
4. Logic

Options :

21052930809. 1
21052930810. 2
21052930811.3

21052930812. 4

Question Number : 53 Question Id : 2105297839 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930809. 1
21052930810. 2
21052930811.3

21052930812. 4



Question Number : 54 Question Id : 2105297840 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The School of Philosophy that supports Play as an important part of the educational process is

1. Idealism

2. Pragmatism
3. Naturalism

4. Existentialism

Options :

21052930813. 1
21052930814. 2
21052930815. 3

21052930816. 4
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Options :

21052930813. 1
21052930814. 2
21052930815. 3

21052930816. 4

Question Number : 55 Question Id : 2105297841 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

During muscular contraction, if the tension developed by the muscle while shortening
at constant speed is maximal over the full range of motion, it is called

1. Isotonic contraction

2. Isometric contraction
3. Eccentric contraction
4. |sokinetic contraction

Options :

21052930817. 1
21052930818. 2
21052930819. 3

21052930820. 4
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21052930817. 1
21052930818. 2
21052930819. 3
21052930820. 4
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Which one of the following is affected in athletic injury as 'strain'?

1. Ligaments
2. Tendons
3. Cartilage
4. Muscles

Options :

21052930821. 1
21052930822. 2
21052930823. 3

21052930824. 4
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21052930821. 1
21052930822. 2
21052930823.3

21052930824. 4
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The endurance athletes have a better capacity of the alveolar-capillary membrane transfer of
gases during maximal exercise and this is referred to as

1. Lung capacity

2. Diffusion capacity

3. Gas Exchange ratio

4. Pulmonary ventilation

Options :

21052930825. 1
21052930826. 2
21052930827. 3
21052930828. 4
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21052930825. 1
21052930826. 2
21052930827. 3

21052930828. 4
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The removal of lactic acid from the muscle and blood requires energy and the majority of this

energy is made available by the

1. Aerobic system

2. Anaerobic system
3. ATP-PC system
4. [ oxidation

Options :

21052930829. 1
21052930830. 2
21052930831. 3

21052930832. 4
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Options :

21052930829. 1
21052930830. 2
21052930831. 3
21052930832. 4
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According to the Central Pollution Control Board, Delhi, the air quality index range 201-300

comes in which one of the following categories?

1. Good

2. Poor

3. Very poor
4 Severe

Options :

21052930833. 1
21052930834. 2
21052930835. 3
21052930836. 4

Question Number : 59 Question Id : 2105297845 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

510 Uy (a 813, foeel! & SFgR g uie 599 {9 201-300, FEffea § € g
o el AT 8 2

1. S

2. T

3. 980 W4

Options :

21052930833. 1
21052930834. 2
21052930835. 3

21052930836. 4
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Enhanced muscular strength increases joint stability and dissipates high levels of joint reaction
force during :

1. High agility movement
2. Push

3. Endurance run

4. Stretching

Options :

21052930837. 1
21052930838. 2
21052930839. 3
21052930840. 4
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Options :

21052930837. 1
21052930838. 2
21052930839. 3
21052930840. 4
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What will happen if you are speeding up in the acceleration phase of a 100-metre sprint?

1. Direction of the acceleration is negative
2. Direction of motion is negative
3. Direction of velocity is constant
4, Direction of the acceleration is positive

Options :

21052930841. 1
21052930842. 2
21052930843. 3
21052930844. 4
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21052930841. 1
21052930842. 2
21052930843. 3

21052930844. 4
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The vision of "Khelo India’ is

1. To promote sports culture and improve sports performance

2. To infuse sports culture and achieve sports excellence in the country
3. To promote sports at the grass-root level

4. To win 20 medals in 2024 Olympics

Options :

21052930845. 1
21052930846. 2
21052930847. 3
21052930848. 4
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21052930845. 1
21052930846. 2
21052930847. 3

21052930848. 4
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Which one of the following factors does not influence the effective functioning of a group?

1. Partiality

2. Proximity

3. Fairness

4, Social support

Options :

21052930849. 1
21052930850. 2
21052930851. 3
21052930852. 4
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21052930849. 1
21052930850. 2
21052930851. 3
21052930852. 4
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Which one of the following is not considered by Wanker (1980) as a reason to participate in

physical activity by adults?

1. Self-challenge
2. Health factors
3. Feeling better
4. Weight gain

Options :

21052930853. 1
21052930854. 2
21052930855. 3

21052930856. 4
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Options :

21052930853. 1
21052930854. 2
21052930855. 3
21052930856. 4
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Which one of the following athletic events was NOT included in the 1896 Olympic programme

of athletic events?

1. 110-meter hurdles
2. 1500 meter

3. 5000 meter

4. Pole vault

Options :

21052930857. 1
21052930858. 2
21052930859. 3

21052930860. 4
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21052930857. 1
21052930858. 2
21052930859. 3
21052930860. 4
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Which one of the following is not a factor of successful leadership?

1. Accountability
2. Loyalty

3. Impatience

4. Integrity

Options :

21052930861. 1
21052930862. 2
21052930863. 3

21052930864. 4
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21052930861. 1
21052930862. 2
21052930863. 3
21052930864. 4
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Which one of the following is NOT the approach of a lesson plan?

1. Herbartian Five-step approach
2. Morrison’s or Unit approach

3. Bloom's or Evaluation approach
4. Pyramid approach

Options :

21052930865. 1
21052930866. 2
21052930867. 3
21052930868. 4
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21052930865. 1
21052930866. 2
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21052930868. 4
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If n =55 M =30 and g = 8, then the reliability of the total test using Kuder-Richardson

formula will be

1.0.820
2. 0.850
3. 0.802
4.0.830

Options :

21052930869. 1
21052930870. 2
21052930871. 3
21052930872. 4
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21052930870. 2
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United Nations recognized the universal appeal to organize 21 June as International Day of
Yoga on

1. 21 December 2014 by resolution 67/137
2. 11 December 2014 by resolution 67/137
3. 21 December 2014 by resolution 69/131
4. 11 December 2014 by resolution 69/131

Options :

21052930873. 1
21052930874. 2
21052930875. 3

21052930876. 4
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Options :

21052930873. 1
21052930874. 2
21052930875. 3

21052930876. 4
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If the value of the Coefficient of variation (CV) is 6.25 and Standard Deviation is (@) is 5, then

the Mean (X) value will be :

1. 80.25
2. 80
3. 73
4.31.25

Options :

21052930877. 1
21052930878. 2
21052930879. 3
21052930880. 4
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21052930877. 1
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21052930880. 4
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Exercise offers innumerable health benefits. Which one of the following statements relating to

exercise and health is incorrect?

1. Exercise improves posture

2. Exercise can also prolong one's life

3. Physical activity can help to prevent many physical and mental disorders
4. Exercise can improve behaviour pattern

Options :

21052930881. 1
21052930882. 2
21052930883. 3
21052930884. 4
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21052930881. 1
21052930882. 2
21052930883. 3

21052930884. 4
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Of the following, which water pollutant is a source of the waterborne disease Cholera?

1. Animal waste
2. Fertilizers

3. Sewage

4. Mercury

Options :

21052930885. 1
21052930886. 2
21052930887. 3

21052930888. 4
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21052930885. 1
21052930886. 2
21052930887. 3
21052930888. 4
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The following are the guidelines for First Aid for burns. Which one of these is incorrect?

1. Use ice-cold water freely

2. Do not allow the patient to run

3. The patient must be made to lie down

4. Use a dry clean cloth to cover the burnt area

Options :

21052930889. 1
21052930890. 2
21052930891. 3

21052930892. 4
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21052930889. 1

21052930890. 2

21052930891. 3

21052930892. 4
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Of the following, which one is NOT a component of health-related fitness?

1. Cardiorespiratory function

2. Body composition

3. Abdominal strength-endurance
4. Reaction time

Options :

21052930893. 1
21052930894. 2
21052930895. 3

21052930896. 4
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21052930893. 1
21052930894. 2
21052930895. 3
21052930896. 4
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In technique training, correction of errors is done using Direct and Indirect methods. One of
the procedures under Direct methods is:

1. Practising the movement under easier conditions

2. Changing external conditions like surface, equipment etc

3. By making the trainee aware of the error with a demonstration of the wrong and correct
movements

4. Setting additional tasks during movement execution

Options :

21052930897. 1
21052930898. 2
21052930899. 3
21052930900. 4
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Options :

21052930897. 1
21052930898. 2
21052930899. 3
21052930900. 4
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Degree of training load is alsoc known as:

1. Critical load

2. External Load
3. Optimum Load
4. Internal Load

Options :

21052930901. 1
21052930902. 2
21052930903. 3

21052930904. 4
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21052930901. 1
21052930902. 2
21052930903. 3
21052930904. 4
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One of the somatic functional symptoms of overload is :

1. Loss of appetite

PP
2. Increased excitability
3. Tensed movements

4. Decreased contact with coach
Options :

21052930905. 1

21052930906. 2

21052930907. 3

21052930908. 4
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21052930905. 1
21052930906. 2
21052930907. 3
21052930908. 4
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Biological capacity of the neuromuscular system for strength application is called :

1. Maximum strength
2. Explosive strength
3. Absolute strength
4. Optimum strength

Options :

210529309009. 1
21052930910. 2
21052930911. 3

21052930912. 4
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210529309009. 1
21052930910. 2
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Cronbach’s Alpha is used to test the reliability of the questionnaire only if it is meant for

testing

1. Three construct

2. Two construct

3. One construct

4. Multiple numbers of construct

Options :

21052930913. 1
21052930914. 2
21052930915. 3

21052930916. 4
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Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930913. 1

21052930914. 2

21052930915. 3

21052930916. 4

Question Number : 80 Question Id : 2105297866 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which one of the following scales are the most appropriate and reliable to measure a single
attitude?

1. Likert-type scales
2. Differential scales
3. Thurstone scales
4. Arbitrary scales

Options :

21052930917. 1
21052930918. 2
21052930919. 3

21052930920. 4

Question Number : 80 Question Id : 2105297866 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930917. 1
21052930918. 2
21052930919. 3
21052930920. 4

Question Number : 81 Question Id : 2105297867 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which one of the following is NOT a type of hypothesis?

1. Tentative hypothesis

2. Representative fictions
3. Descriptive hypothesis
4. Exploratory hypothesis

Options :

21052930921. 1
21052930922. 2
21052930923. 3
21052930924. 4

Question Number : 81 Question Id : 2105297867 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930921. 1
21052930922. 2
21052930923. 3
21052930924. 4

Question Number : 82 Question Id : 2105297868 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which one of the following is NOT an essential characteristic of data?

1. Clarity

2. Adequacy
3. Stability
4. Flexibility

Options :

21052930925. 1
21052930926. 2
21052930927. 3

21052930928. 4

Question Number : 82 Question Id : 2105297868 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052930925. 1
21052930926. 2
21052930927. 3

21052930928. 4

Question Number : 83 Question Id : 2105297869 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Evaluation used by the teacher throughout the instructional stages of the unit of learning is
called :

1. Summative Evaluation
2. Formative Evaluation
3. Subjective Evaluation
4. Objective Evaluation

Options :

21052930929. 1
21052930930. 2
21052930931. 3

21052930932. 4

Question Number : 83 Question Id : 2105297869 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
HFEFTH BT P13 B HeRTH® Al H 1&g gRI Ugdd Hdid- Healdl 6 ;

1. YBaAIHD Jodid
2. T9ATHD HogldA
3. fqugfg ggie

4, THE H@A

Options :

21052930929. 1
21052930930. 2
21052930931. 3
21052930932. 4

Question Number : 84 Question Id : 2105297870 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Reliability and objectivity of the test are reported by using :

1. Partial correlation

2. Multiple carrelation
3. One-way ANOVA

4. Inter-class correlation

Options :

21052930933. 1
21052930934. 2
21052930935. 3

21052930936. 4

Question Number : 84 Question Id : 2105297870 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930933. 1
21052930934. 2
21052930935. 3
21052930936. 4

Question Number : 85 Question Id : 2105297871 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



If a total of 50 students appeared in a test and 38 of them answered an item correctly, then
the Difficulty Rating (D.R.) for that test item will be

1.0.19
2.0.76
3.0.13
4.0.88

Options :

21052930937. 1
21052930938. 2
21052930939. 3
21052930940. 4

Question Number : 85 Question Id : 2105297871 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1.0.19
2. 0.76
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4088

Options :

21052930937. 1
21052930938. 2
21052930939. 3
21052930940. 4

Question Number : 86 Question Id : 2105297872 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



If C, =25, C;=12, and N, =27, then Index of Discrimination (1.D.) will be

1. 0.481
2.0418
3.0408
4.0.4%0

Options :

21052930941. 1
21052930942. 2
21052930943. 3

21052930944. 4

Question Number : 86 Question Id : 2105297872 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930941. 1
21052930942. 2
21052930943. 3

21052930944. 4

Question Number : 87 Question Id : 2105297873 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The most suited teaching aid for physical education is :

1. Workshop

2. Refresher Training
3. Audio-visual

4. Panel - Discussion

Options :

21052930945. 1
21052930946. 2
21052930947. 3

21052930948. 4

Question Number : 87 Question Id : 2105297873 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930945. 1
21052930946. 2
21052930947. 3
21052930948. 4

Question Number : 88 Question Id : 2105297874 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



-

Which one of the following is NOT a type of Planning?

1. Ad-hoc Planning

2. Strategic Planning
3. Tactical Planning

4. Functional Planning

Options :

21052930949. 1
21052930950. 2
21052930951. 3

21052930952. 4

Question Number : 88 Question Id : 2105297874 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930949. 1
21052930950. 2
21052930951. 3
21052930952. 4

Question Number : 89 Question Id : 2105297875 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The minimum height of sports hall that can accommodate Handball, Basketball, Table tennis

and Judo should be

1. 6.7 meters
2. 7.2 meters
3. 7.6 meters
4 8.2 meters

Options :

21052930953. 1
21052930954. 2
21052930955. 3

21052930956. 4

Question Number : 89 Question Id : 2105297875 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930953. 1
21052930954. 2
21052930955. 3

21052930956. 4

Question Number : 90 Question Id : 2105297876 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



How much space is required to construct a 400-meter track with 80 meters straight 8 lanes
(1.22 m) and 5-meter extra space is left around the track?

1. 185.28-meter length and 105.28-meter width
2. 192.55-meter length and 110.55-meter width
3. 218.55-meter length and 115.52-meter width
4. 208.52-meter length and 112.52-meter width

Options :

21052930957. 1
21052930958. 2
21052930959. 3

21052930960. 4

Question Number : 90 Question Id : 2105297876 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930957. 1
21052930958. 2
21052930959. 3

21052930960. 4

Question Number : 91 Question Id : 2105297877 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Primary and additional means of training are used for high sports performance. Among them,
additional training means include :

A. Physical exercise

B. Pedagogical measures

C. Medical and Physiotherapeutic means

D. Psychological means

E. Material means

Choose the correct answer from the options given below:

1.A B, Cand D only
2.A BDand E only

3.B,C, D, and Eonly
4. A, C Dand E only

Options :

21052930961. 1
21052930962. 2
21052930963. 3

21052930964. 4

Question Number : 91 Question Id : 2105297877 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. ®aqAA, B, CHR D
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Options :

21052930961. 1
21052930962. 2
21052930963. 3

21052930964. 4

Question Number : 92 Question Id : 2105297878 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



As an individual gets older, which of the following physiological changes accompany the

ageing process?

A. Lean body weight decreases

B. Body fat percentage increases

C. Blood pressure decreases

D. Reaction time increases

E. Basal Metabolic rate decreases

Choose the most appropriate answer from the options given below:

1. A, Cand D only
2.B, D and E only
3.B,Cand D only
4. A BandEonly

Options :

21052930965. 1
21052930966. 2
21052930967. 3
21052930968. 4

Question Number : 92 Question Id : 2105297878 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930965. 1
21052930966. 2
21052930967. 3
21052930968. 4

Question Number : 93 Question Id : 2105297879 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are Ergogenic Aids?

A. Ascorbic Acid

B. Amphetamine

C. Thiamine

D. Pangamic Acid

E. Glutamine

Choose the most appropriate answer from the options given below:

1. A, Cand D only
2. B, D and E only
3. B, Cand D only
4 A CandEonly

Options :

21052930969. 1
21052930970. 2
21052930971. 3

21052930972. 4

Question Number : 93 Question Id : 2105297879 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. BaAA, C3RD
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Options :

21052930969. 1
21052930970. 2
21052930971. 3

21052930972. 4

Question Number : 94 Question Id : 2105297880 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



To enhance performance in shotput, the player (athlete) should concentrate on which three of
the following aspects?

A. Optimum acceleration

B. Greater velocity of release

C. More optimum angle

D. A greater height of release

E. Minimize upward velocity

Choose the correct answer from the options given below:

1. A B and C only
2.B,Cand D only
3.C, D and E only
4. A, Cand D only

Options :

21052930973. 1
21052930974. 2
21052930975. 3

21052930976. 4

Question Number : 94 Question Id : 2105297880 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930973. 1
21052930974. 2
21052930975. 3

21052930976. 4

Question Number : 95 Question Id : 2105297881 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Mechanical energy comes from

A. Energy due to impulse

B. Energy due to motion

C. Energy due to change in the structure

D. Energy due to position

Choose the correct answer from the options given below:

1. A and C only
2. B and D only
3. Cand D only
4. A and B only



Options :

21052930977. 1
21052930978. 2
21052930979. 3
21052930980. 4

Question Number : 95 Question Id : 2105297881 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options:

21052930977. 1
21052930978. 2
21052930979. 3

21052930980. 4

Question Number : 96 Question Id : 2105297882 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Type ‘A’ behaviour pattern is characterized by

A. Excessive competitive drive

B. Strong sense of urgency

C. Apathetic response

D. Easily aroused hostility

Choose the most appropriate answer from the options given below:

1. A, B and D only
2. B, Cand D only
3. A, Band Conly
4. A Cand D only

Options :

21052930981. 1
21052930982. 2
21052930983. 3

21052930984. 4

Question Number : 96 Question Id : 2105297882 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :




21052930981. 1
21052930982. 2
21052930983. 3

21052930984. 4

Question Number : 97 Question Id : 2105297883 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Achievement motivation refers to an athlete's efforts to

A. Perform at pat with others

B. Overcome obstacles

C. Achieve excellence

D, Efforts to master a task

Choose the most appropriate answer from the opticns given below:

1. A B and C only
2. A, Band D only
3. A Cand D only
4. B, Cand D only

Options :

21052930985. 1
21052930986. 2
21052930987. 3

21052930988. 4

Question Number : 97 Question Id : 2105297883 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. HadA A, B3R C
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Options :

21052930985. 1
21052930986. 2
21052930987. 3

21052930988. 4

Question Number : 98 Question Id : 2105297884 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
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According to the National Council for Teacher Education (NCTE), 2014 notification, curriculum
of B.P. Ed programme shall be designed to integrate which of the following?

A. Study of Childhood

B. Pedagogical Knowledge

C. Performance analysis

D. Communication Skills

E. Social context of Physical Education

Choose the correct answer from the options given below:

1. A B, Cand D only
2.A, C DandEonly
3.B,C,DandEonly
4. A B, DandEonly

Options :

21052930989. 1
21052930990. 2
21052930991. 3
21052930992. 4

Question Number : 98 Question Id : 2105297884 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930989. 1
21052930990. 2
21052930991. 3

21052930992. 4

Question Number : 99 Question Id : 2105297885 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are the main components/aobjectives of the 'Khelo India’ scheme?
A. Playfield development

B. Community coaching development

C. Sports for Peace and Development

D. Physical fitness and improvement of sports performance at the college level

E. Physical fitness for school going children

Choose the correct answer from the options given below:

1. A, Cand E only
2. A B, Cand E only
3. B, C D and E only
4. A, Cand D only

Options :

21052930993. 1
21052930994. 2
21052930995. 3

21052930996. 4

Question Number : 99 Question Id : 2105297885 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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4. HaAA, C3RD

Options :

21052930993. 1
21052930994. 2
21052930995. 3

21052930996. 4

Question Number : 100 Question Id : 2105297886 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



There are many diseases which are considered as genetic or hereditary diseases. Of the
following, which are hereditary disorders?

A. Rubella

B. Thalassemia

C. Sickle-cell anaemia

D. Poliomyelitis

E. Haemophilia

Choose the correct answer from the options given below:

1. A, Cand E only
2.B, Cand E only
3.A DandEonly
4. B, Cand D only

Options :

21052930997. 1
21052930998. 2
21052930999. 3

21052931000. 4

Question Number : 100 Question Id : 2105297886 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930997. 1
21052930998. 2
21052930999. 3

21052931000. 4
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Option Orientation : Vertical
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Hepatitis A is an acute infectious disease. |ts modes of transmission are ;
A. By blood and skin penetration

B. Direct or indirect contact

C. Airborne droplets

D. Vector transmission

E. Sexual transmission

Choose the correct answer from the options given below:

1. A, C and E only
2. B, Cand D only
3. B, D and E only
4. A B and E only

Options :

21052931001. 1
21052931002. 2
21052931003. 3

21052931004. 4
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Options :

21052931001. 1
21052931002. 2
21052931003. 3

21052931004. 4
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Strength ability is divided into which of the following types?
A. General Strength

B. Maximum Strength

C. Relative Strength

D. Explosive Strength

E. Strength endurance

Choose the correct answer from the options given below:

1. A, D and E only
2. B, D and E only
3. B, Cand D only
4. B, C and Eonly

Options :

21052931005. 1
21052931006. 2
21052931007. 3

21052931008. 4
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21052931005. 1
21052931006. 2
21052931007. 3
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Factors determining external load include

A. Quality of execution of movement exercise

B. Lactic acid Concentration

C Type of exercise,

D. Heart Rate

E. Load intensity

Choose the correct answer from the options given below:

1. A, C and E only
2. B, C, and D only
3.C, D and A only
4. E A and B only

Options :

210529310009. 1
21052931010. 2
21052931011. 3
21052931012. 4
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Options :

210529310009. 1
21052931010. 2
21052931011.3

21052931012. 4
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The Analysis of Variance (ANOVA) is used for

A. Testing within-group variations

B. Testing between-group variations

C. Comparing group variances

D. Comparing group means

Choose the correct answer from the options given below:

1. A and B only
2. Cand D only
3. A and Conly
4. B and D only



Options :

21052931013. 1
21052931014. 2
21052931015. 3
21052931016. 4
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Which of the following are appropriate tests for the comparison of group means?
A. One group: t-test or Z-test

B. Two groups: t-test or F-test

C. More than two groups: t-test

D. More than two groups: F-test

Choose the most appropriate answer from the options given below:

1. A and B only
2. B and C only
3. Cand D only
4. A and D only

Options :

21052931017. 1
21052931018. 2
21052931019. 3

21052931020. 4
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21052931017.1
21052931018. 2
21052931019. 3

21052931020. 4
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Which skinfolds are included in the AAHPERD Health-Related Physical Fitness Test?
A. Triceps

B. Subscapular

C. Lateral abdomen

D. Supra llliac

E. Chest girth

Choose the correct answer from the options given below:

1. A and B only

2. A, Band D only
3. A B and E only
4. B, Cand D anly

Options :

21052931021. 1
21052931022. 2
21052931023.3

21052931024. 4
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21052931021. 1
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21052931023. 3
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Question Number : 107 Question Id : 2105297893 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are correct regarding the Sports Competition Anxiety Test
(SCAT) Questionnaire by Rainer Martens?

A. Questionnaire consists of 15 items

B. Questionnaire has 5 spurious items

C. Each item of the questionnaire has 5 responses

D. Spurious items are not scored

Choose the correct answer from the options given below:

1. A, Cand D only
2. A B and D only
3. A and D only
4. A and C only

Options:

21052931025. 1
21052931026. 2
21052931027.3
21052931028. 4

Question Number : 107 Question Id : 2105297893 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

W Ui ool T (TEUEe)) & Gad H X A9 gRT Ued WyTaa § geiid Fafaad
FYHH Y YT Yal g ?

A. VTl # 15 95 g

B. HeTae H 5 YA 706 |

C. Wil @1 Ueddh He H 5 I R T §
D. YH® Hal @1 [l 48] B 7% o

i feu e fawedl © 4 9l S gL

1. BaAA, C AR D
2. PaAA BIARD
3. PAAA IR D
4, BTAA AR C



Options :

21052931025. 1
21052931026. 2
21052931027.3

21052931028. 4
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Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
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Correct Marks : 2 Wrong Marks : 0

Static frictional force depends on which of the following factors?
A. Surface area of contact

B. Nature of surfaces in contact

C. Material of surfaces in contact

D. Normal reaction force

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3.C, D and A only
4. D, A and B only

Options:

21052931029. 1
21052931030. 2
21052931031.3

21052931032. 4
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Options:

210529310209. 1
21052931030. 2
21052931031.3

21052931032. 4
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Which of the following are correct about a Budget?

A. Budget is simply a written estimate of anticipated income and expenditure

B. Budget is the expression of an institute's plan in financial form for a period of time in the

future

C. Budget is the account of various expenditures in a systematic way for a particular period

D. The budget is a formal statement of management plans and policies for a given period

Choose the correct answer from the options given below:

1.Aand B only

2. A B and Conly
3.A BandD only
4. B, Cand D only

No



Options :

21052931033. 1
21052931034. 2
21052931035. 3
21052931036. 4
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21052931034. 2
21052931035. 3
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FT fibres of muscle which are suitable for sprint type activity are characterized by
A. High glycolytic capacity

B. Low capillary density

C. A small force of contraction

D. Low fatigability

E. Low aerobic capacity

Choose the correct answer from the options given below:

1. A, B and E only
2. A, C and E only
3. B, Cand D only
4. B, D and E only

Options :

21052931037. 1
21052931038. 2
21052931039. 3

21052931040. 4
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Which of the following are NOT services required to be provided under school health services?
A. Immunization

B. Micronutrient management

C. Primary prevention of disabilities

D. De-worming

E. Midday meal

Choose the correct answer from the options given below:

1. A, C, D and E only
2.B,C, D and E only
3.A B, DandE only
4. A B CandEonly

Options :

21052931041. 1
21052931042. 2
21052931043. 3

21052931044. 4
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Which of the following great physical educators were from Germany?
A. Johann Guts Muths

B. Franz Natchtegall

C. Johann Basedow

D. Friedrich Ludwig Jahn

E. Per Henrick Ling

Choose the correct answer from the options given below:

1. A, Cand D only
2. A, D andE only
3. B, Cand D only
4. A B and Conly

Options :

21052931045. 1
21052931046. 2
21052931047. 3

21052931048. 4
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Which of the following statements are correct regarding Competitive State Anxiety Inventory -
2 (CSAI - 2)

A. Inventary has 25 items/questions

B. Inventory has 3 sub-scales

C. Three sub-scales of the inventory are Somatic Anxiety, Cognitive Anxiety, and Confidence
D. Somatic Anxiety sub-scale has 9 questions/items

E. Cognitive Anxiety sub-scale has 8 questions/ items

Choose the correct answer from the options given below:

1. A B, Cand D only
2. A B and D only
3.B,C,DandEonly
4. B, Cand D only

Options :

21052931049. 1
21052931050. 2
21052931051. 3
21052931052. 4
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21052931052. 4

Question Number : 114 Question Id : 2105297900 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



According to NCTE notification 2014 along with M.P.Ed (2 yrs), which of the following
academic and professional qualifications are required for Senior secondary/Intermediate
Physical Education teachers?

A. Bachelor of Physical Education (B.P.Ed)

B. Bachelor of Physical Education (B.P.E)

C. Bachelor with Physical Education as an optional subject

D. Bachelor degree in any stream with national-level participation in Sports / Games/ Athletics
Choose the correct answer from the options given below:

1. A B and C only
2. A, Cand D only
3.B,Cand D only
4. A and B only

Options :

21052931053. 1
21052931054. 2
21052931055. 3

21052931056. 4
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21052931053. 1
21052931054. 2
21052931055. 3

21052931056. 4
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Which of the following are common assumptions in parametric tests?
A. Randomness

B. Nonlinearity

C. Normality

D. Homogeneity of variances

Choose the correct answer from the options given below:

1. A and C only
2. B and D only
3. A and B only
4. Cand D only



Options :

21052931057. 1
21052931058. 2
21052931059. 3

21052931060. 4
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Match List | with List I

List | List 1l

A. Muscle Contraction of the ankle joint in the downward phase l. Eccentric

B. Muscle Contraction of the shoulder joint in the downward phase |Il. Extensors
C. Active muscle group of the knee in the downward phase Ill. Concentric
D. Active muscle group of the shoulder in the upward phase IV. Flexors

Choose the correct answer from the options given below:

TA-ILB-IV,C-1,D-1I
2A-IWB-ILC-1I,D-1
3A-|L,B-LC-ILD- IV
4 A-ILB-LC-IV,D-1l

Options :

21052931061. 1
21052931062. 2
21052931063. 3
21052931064. 4
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Options:
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21052931062. 2
21052931063. 3

21052931064. 4

Question Number : 117 Question Id : 2105297903 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0
Match List I with List Il

List | List 11

Physical Activity Percentage of Efficiency (%)
A. Horizontal walking . 24- 34

B.Swimming (Freestyle) [Il. 10 - 20

C. Cycling ll. 19 -35

D. Rowing V.3 =T

Choose the correct answer from the options given below:

T.A-IVB-I,C-1l,D-1|
ZA-ILB-IV,C-1,D-1
JA-ILB-LC-IV,D-lII
4A-IILB-IV,C-1I,D-1|

Options :

21052931065. 1
21052931066. 2
21052931067. 3
21052931068. 4
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21052931065. 1
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21052931068. 4
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Correct Marks : 2 Wrong Marks : 0
Match List | with List Il

List | List 11

Muscle Origin

A. Sartorius . Proximal tibia

B. Rectus Femoris |Il. Medial tibia (Pes ansering)
C. Popliteus lll. Anterior superior iliac spine
D. Gracilis V. Anterior inferior iliac spine

Choose the correct answer from the options given below:

TA-LB-ILC-IILD-IV
2ZA-IV,B-ILC-Il,D-]|
SA-ILB-ULC-IV,D-|
4 A-1ILB-IV,C-1,D-1l

Options :



21052931069. 1
21052931070. 2
21052931071. 3

21052931072. 4
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Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List 1 with List 1l

List | List Ii

Winners of Dhyan Chand Award Game / Sport
A. Mitten Kirrtane .. Wrestling
B. Manuel Fredricks Il. Tennis
C. Manoj Kumar Il. Table Tennis
D. Arup Basak IV. Hockey

Choose the correct answer from the options given below:

1TLA-NILBE-LC-1,D-1V
2A-ILB-1,C-1I,D-1V
3A-1L,B-W,C-1I,D-1
4 A-ILB-IV,C-1,D-1

Options :

21052931073. 1
21052931074. 2
21052931075. 3

21052931076. 4

Question Number : 119 Question Id : 2105297905 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
qy 2019 & FHUG UEHR [doiarsl deu H gdi-| &1 gdi-1l & 9y gHied dife ;

i1 BEIEl
EIE T /9
a e feds I Bl
B.HGS heR® |19
C. 76l PHR IIGCHIGIEES]
D. 3R&U §UIH V. Bl
- feu e fasedl 5 9 981 IR 9T

1T LA-ILB-LC-ILD-W
ZA-I,B-LC-IlILD-V
FA-LB-NE-IL, D -1
4 A-ILB-IV,C-1,D- 1



Options :

21052931073. 1
21052931074. 2
21052931075. 3
21052931076. 4

Question Number : 120 Question Id : 2105297906 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List I with List Il

List | List II
A. National Physical Fitness Drive . 1965
B. National Playfields Association of India Il. 1959
C. National Fitness Corps 1. 2009
D. Central Advisory Board of Physical Education and Recreation |IV. 1950

Choose the correct answer from the options given below:

TA-1,B-I,LC-IV,D-1l
ZA-1L,B-NIL,C-I,D-1IV
S3A-ILB-ILC-I,D-1IV
4 A-1LB-LC-1V,D-1

Options:

21052931077. 1
21052931078. 2
21052931079. 3

21052931080. 4

Question Number : 120 Question Id : 2105297906 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gaii-1 Dl Fali-1| B ST RAAT / & H o o 99 YR G GHferd Sifere ;

gdl-| -1l
A, SR hivied fhe-d Sred l. 1965
B. H¥Md & hlegd THieH AHw sfear 1. 1959
CHEAT ey & 111, 2009
D. Yoo USaiei] dis I thivihd TohaH Us REBIRE |1V, 1950
g feu e f9@edl 5 ¥ 981 ok g

TA-1,B-ILC-1V,D-1l
ZA-1,B-NILC-Il, D-1IV
S3A-ILB-ILC-I,D-1IV
4 A-ILB-LC-IV,D-1l

Options:

21052931077. 1
21052931078. 2
21052931079. 3

21052931080. 4

Question Number : 121 Question Id : 2105297907 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List | with List Il

List | List II

Substance Acceptable limit in water per BIS
A, Aluminium l. 75 mg/|

B. Calcium 1. 250 mg/I

C. Chloride l. 5 mg/I

D. Zinc IV. 0.03 mg/I

Choose the correct answer from the options given below:

TA-ILB-V,C-Il,D-1|
2ZA-I,B-ILC-ILD-IV
3A-IV.B-LE-1ILD- Nl
4 A-IV,B-ILC-1,D- 1l

Options :

21052931081. 1



21052931082. 2
21052931083. 3

21052931084. 4

Question Number : 121 Question Id : 2105297907 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
HRAT dH® o1 & 38R - G dH a1 8 7

H_\T’-'ﬂ—! H\Eﬁ—il

A HTH Aluminium|l. 75 TH= / TG
B. HaREg 1, 250 THwIl / T
C. FRES Il. 5THe/ Td
D. id V. 0.03 THGI / O
id feu e fadedl § 9 981 SR g -

TA-I,B-IV,C-Il,D-1
ZA-1LB-NI,C-I,D-1IV
3A-IV,B-1,C-1,D-1
4 A-IV,B-1I,C-1,D-1lI

Options :

21052931081. 1
21052931082. 2
21052931083. 3

21052931084. 4

Question Number : 122 Question Id : 2105297908 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List I with List 11

List | List 11

Training Cycle Duration

A. Meso Cycle I. Period of more than a year
B. Yearly Plan 1. 1 -2 weeks

C. Micro-cycle Ill. One year

D. Macro-cycle V. 3 - 6 weeks

Choose the correct answer from the options given
below:

TA-IV,B-1ILC-1l,D-1
ZA-1,B-IV,C-1I,,D -1
SA-ILB-LE-LD-IV
4 A-1ILEBE-LC-IV,D-1lI

Options :

21052931085. 1
21052931086. 2
21052931087. 3

21052931088. 4

Question Number : 122 Question Id : 2105297908 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

gai-1 &l Gaii-1l & Gy Gaferd i -

Tl - | gl - il

JTRI&0T Tk paeaps)

A, Ol - 9% . Us 419 ¥ 3fie 999
B. A& TSI |l 1- 2 TWE

C. 9 -8 Il Uh Y

D. O - 9% V.3 - 6 9T

i feu ¢ fadedi § § Tel 3w gHU

TA-WB-NI,C-Il,D-|
ZA-1L,B-NE-I, D -1
FA-ILB-ILC-LD-V
4 A-ILB-I,C-IV,D-1



Options :

21052931085. 1
21052931086. 2
21052931087. 3
21052931088. 4

Question Number : 123 Question Id : 2105297909 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List I with List 1l

List | List 11

Body Type Characteristics

A. Phthisic habitus . Long, thin body

B. Apoplectic habitus Il. Body without strength
C. Pyknic lIl. Short thick body

D. Asthenic V. A compact body

Choose the correct answer from the options given below:

T.A-1,B-1IL,C-1I,D-IV
ZA-IILB-1L,C-IV,D-II
3A-LB-UL,C-IV,D-I
4 A-IVB-MLC-1I,D-1

Options:

21052931089. 1
21052931090. 2
21052931091. 3
21052931092. 4

Question Number : 123 Question Id : 2105297909 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



a4 -l

IR & YPR HfH&OTE 0T

A, T efged |, TiaI, gdel TR

B. TUIGife® afaed 1. =T ared BT TR
c. fieia® 111, BieT Hiel TR

D. TRITg®H V. B ERR

4 fu e fomedf O O gel 3w g

TA-ILB-IILC-ID-IV
ZA-IILB-1L,C-IV,D-II
3A-I,LB-U,C-IV,D-1I
4 A-IV,B-IILC-1I,D -1

Options:

21052931089. 1
21052931090. 2
21052931091. 3
21052931092. 4

Question Number : 124 Question Id : 2105297910 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List I with List Il

List | List Il
Type of Validity Description
A. Statistical Validity |. Validity of a test shown by the extent of agreement between the

test content and objectives

B. Curricular Validity II. Discriminative value of an item

. o lIl. The worth of a test for a given purpose which has been proven
C. Empirical Validity through experience

D. ltem Validity V. Test validity expressed numerically

Choose the correct answer from the options given below:

TA-IV,B-LC-1,D-1
ZA-IV,B-NL,C-1,D-1
JA-I,B-1,C-ILD-IV
4 A-IV,B-LC-11,D-1l

Options:

21052931093. 1
21052931094. 2
21052931095. 3

21052931096. 4

Question Number : 124 Question Id : 2105297910 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



dl-| B Gli-1l & gy GAferd &Y -

- i

qUdT & YBR e

A Qi@ dear | Tteon fawgag SR 350 & o 9U3id & UOR R Wekid
1G0T 1 Qe

B. Uraa<d dedl 11 fdt e &1 faveard aH

C. IMHTa Jea 11, 34 BR1 s 31 9o el T S5 Ry Wig &1 5

D. Hg At V. §EITHD ©U Y i a0 audl

- feu v fadeal § 4 w8 I g

TA-IV,B-LC-1,D-1
ZA-IV,B-NL,C-1,D-1
JA-I,B-1,C-ILD-IV
4 A-IV,B-LC-11,D-1l

Options:

21052931093. 1
21052931094. 2
21052931095. 3
21052931096. 4

Question Number : 125 Question Id : 2105297911 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List I with List Il

List | List 11

Characteristic Explanation

A. Cohesion is instrumental o .
. Cohesion in a group can change over time

B.. Cohesion is affective Il. Groups are created for a purpose

o o , lIl. Members social interactions produce feelings among
C. Cohesion is multidimensional
group members

D. Cohesion is dynamic V. Factors that keep the group intact

Choose the correct answer from the options given below:

TA-ILB-M,C-IV,D-I|
2ZA-IV,B-1,C-1,D-1l
JA-ILB-IV,C-L,D-1
4 A-1,B-ILC-IILD -V

Options:

21052931097. 1
21052931098. 2
21052931099. 3

21052931100. 4

Question Number : 125 Question Id : 2105297911 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



dl-| B Gli-1l & gy GAferd &Y -

gl-1 -
T U] T
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C. 4id dgamaH g S e 2
D, Hgfd ioElia & V. I8 BR® Gl YHE P! H&00[ Td g
- feu e fadeal § 4 w8 I g

TA-ILB-M,C-IV,D-I|
2ZA-IV,B-1,C-1,D-1l
JA-ILB-IV,C-L,D-1
4 A-1,B-ILC-IILD -V

Options:

21052931097. 1
21052931098. 2
21052931099. 3

21052931100. 4

Question Number : 126 Question Id : 2105297912 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Sequentially arrange the steps of qualitative analysis (Anatomical)

A. Divide the activity with temporal phases

B. Identify any extremes in joint ranges of motion

C. Identify the joints involved and the movements occurring at those joints

D. Determine the type of muscular contraction and identify the predominant active muscle

group of each joint
E. Identify instances when rapid joint angular acceleration occurs and where impacts occur
Choose the correct answer from the options given below:

1.ACDEB
2B D ACE
3.C,DEBA
4D,EBAC

Options :

21052931101. 1
21052931102. 2
21052931103. 3

21052931104. 4

Question Number : 126 Question Id : 2105297912 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TRR T & U fIRerul & Rl &l e €9 § e

A. TTicfafial Bi srerdt TRl # dfe

B. 71T & g &7 H ol 41 G BRI 3 U5 Bl

C. TMHE ois! 3R 37 SIs! & SR 9fed 9907 @1 Ugar &)

D. Higu=ig G &1 ko IR uds o H yad gichy AUy 948 &I tgaH oAl

E. S&U1 @1 UgTH BT 9 9IS A did PIUig G0 3dd oidl & SR ofgl 4 UHTd 37 il o
4 feu 7t faeed! # © 981 3w gL

1.LACDEB
2B DACE
3.C, D EBA
4D, EBAC

Options :

21052931101. 1
21052931102. 2
21052931103. 3

21052931104. 4

Question Number : 127 Question Id : 2105297913 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Stress process consists of four inter-related stages. Sequentially arrange these stages in order

of their occurrence

A. Perception of demand

B. Stress response

C. Behavioural consequences under stress

D. Environmental demand

Choose the correct answer from the options given below

1.0,B A C
2B, CDA
3.D,ABC
4 A B CD

Options :

21052931105. 1
21052931106. 2
21052931107.3

21052931108. 4

Question Number : 127 Question Id : 2105297913 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
a1q Ui & TR Sy sawime 2 aidl 6| 39 HaRI3 & 3d ogdft & $u o
HHMER TERYd DIfT:

A, HiT BT T

B, T 3T

C. 19 & g1ggiiRe uRum

D. TIaRTig HiF

i feu e fawedl © 4 9l S gL

1.0, B AC
2B CDA
3.D,ABC
4 ABCD




Options :

21052931105. 1
21052931106. 2
21052931107. 3
21052931108. 4

Question Number : 128 Question Id : 2105297914 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Arrange sequentially, the phases of psychological skill training
A. Practice phase

B. Acquisition phase

C. Incorporation and application phase

D. Education phase

Choose the correct answer from the options given below:

1.D, B A C
A B CD
.C,D,B A
.B,A D, C

O P o

Options:

210529311009. 1
21052931110. 2
21052931111.3

21052931112. 4

Question Number : 128 Question Id : 2105297914 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fgfafaa & 4 gAaiHe Siwe UiRian & a1 1 ¥el &H 9HU
A. 3T Sa=T

B, HIEUTGU 3G

C. GHIGRA AR HIUTRT Sae]

D. TRI&T Sa=

A feu v fawedl F € el 3w g9 :

1.D, B A C
2ZABCD
3.CD, B A
4B A D, C

Options :

21052931109. 1
21052931110. 2
21052931111.3

21052931112. 4

Question Number : 129 Question Id : 2105297915 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following activities that a teacher must decide in the pre-active phase of teaching

in a sequence from first to the last

A. The decision about Teaching strategies

B. Fixation of goals

C. Distribution of teaching strategies

D. Sequencing the subject matter for presentation

E. The decision about the subject matter

Choose the correct answer from the options given below

1.B,D,ECA
2B ACDE
3.8,A, D CE
4B EDAC

Options :

21052931113. 1
21052931114. 2
21052931115.3

21052931116. 4

Question Number : 129 Question Id : 2105297915 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



frafeRad srdaanl o, Sl Rig® oI R0 $1 gd 9ihy aw1 # Have w4 § g
&A1 Bidl &, HHER WA U 3ifoH & w9 H odiyd difon ;

A. FRiegor Turfifoat & R 4 Mg

B. Ti&dl &1 FuRom

C. FRuggor Torifei @1 faaRun

D. TId a0 5 [AUGaR A1 &l HHaG el
E. fqwgera /el & §R A Fuig

T4 feT e fa@eul # © 98 TR gL :

1.B,D,ECA
2B ACDE
3.8,A, D CE
4B EDAC

Options :

21052931113. 1
21052931114. 2
21052931115.3
21052931116. 4

Question Number : 130 Question Id : 2105297916 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange in a sequential manner the life cycle of the malaria parasite in the human host
A. Merozoits enter red cells

B. Multiplication in liver

C. Sporozoites enter the human host

D. Human blood enters the mosquito

E. Infected mosquito bites a person

Choose the correct answer from the options given below;

1D, A CBE
2ZEBCAD
3.0,B A CE
4 ECBAD

Options :

21052931117. 1
21052931118. 2
21052931119. 3

21052931120. 4

Question Number : 130 Question Id : 2105297916 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A5 &l TR & Aol RATSe &l A3 5 (life cycle) @ S Hd ©U 4 FaRYd &1 ;

A. X D1l § FRISAIE &1 Ude Sl
B, T H A H‘Tﬁﬂﬁﬁdiﬁ:ﬂ
C. 7™ & SRR H WRIwaTey &1 §asl

D. H™ &I G &l H&3% H Y &A1

E. G0 Hese g1 dHfdd ! drenl
i feu e faeedl 4 9 g8 IR gL

1.D,A CBE
ZEBCAD
3.D,B ACE
4ECBAD

Options :

21052931117. 1
21052931118. 2
21052931119.3
21052931120. 4

Question Number : 131 Question Id : 2105297917 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following phases of periodization in the order of importance for the development
of flexibility

A. Transition

B. Preparatory - |

C. Preparatory - I

D. Preparatory - |l

E. Competition

Choose the correct answer from the options given below

1.A,B,C D E
2B ADCE
3.CDABE
4B CDEA

Options :

21052931121. 1
21052931122. 2
21052931123.3

21052931124. 4

Question Number : 131 Question Id : 2105297917 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



tiRgSIz=e o fafys wRul § e [deid @4 oq ol 9 dicd Hew @ fewd o daied
B -

A. Tagifd ®ra

B. TAR] PTed - |

C. 7RI el - 1l

D. GURI e - 1

E. T

T4 feT e fa@eul # © 98 TR gL :

1.A,B,C D E
2B ADCE
3.CDABE
4B CDEA

Options :

21052931121. 1
21052931122. 2
21052931123.3
21052931124. 4

Question Number : 132 Question Id : 2105297918 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange in sequence the steps involved in the sampling process
A. Choose between probability and nonprobability sampling

B. Specify sampling unit

C. Validate sample

D. Determine the necessary sample size

E.Select appropriate sampling frame

Choose the correct answer from the options given below:

1.A B, C,Eand D
2B CAEandD
3EB A DandC
4D,C,ELEAandB

Options :

21052931125. 1
21052931126. 2
21052931127.3

21052931128. 4

Question Number : 132 Question Id : 2105297918 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A. FHTT SR SrEYTedl FHHIHR0 & HE 984

B. TA1 SHTS B SRT &l

C. 95 DI [qe-1g o

D. HGRTD T & PR B HuR

E. 3Uad 51 UREY & 994
i feu e famedl 5 9 98 IR 9T

1.A B CED
2B CAED
3.3EBADC
4D CEAB

Options :

21052931125. 1
21052931126. 2
21052931127.3

21052931128. 4

Question Number : 133 Question Id : 2105297919 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following duties after testing while administering a test, in an ascending order:
A. Interpreting results

B. Comparing raw scores

C. Comparing results with norms

D. Follow up

E. Collecting scorecards

Choose the correct answer from the options given below:

1.EC B AandD
2ZEBACandD
3EBCAandD
4 EB CDandA

Options :

21052931129. 1
21052931130. 2
21052931131.3
21052931132. 4

Question Number : 133 Question Id : 2105297919 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



U&7 & THTA URI&0T TaTeH & HEaRad doodl @I JRigl HH § Hareyd DIt ;
A. GRUTH @ oORe

B. HUNhd Sfidhs dGaHT

c. Frodt & g1y gRona! & e

D. BIciiafg

E. i gl UA SH5] Bl
-4 feu v faedl § ¥ 9El S 9T

1.EC B AD
ZEBACD
3EBCAD
4 EBCDA

Options :

21052931129. 1
21052931130. 2
21052931131.3

21052931132. 4

Question Number : 134 Question Id : 2105297920 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Arrange the following phases of memory in the correct sequence from first to last
A. Learning

B. Recall

C. Recognition

D. Retention

Choose the correct answer from the options given below

1.A, B, Cand D
2. A, D, BandC
3.A,CDandB
4 A D C andB



Options :

21052931133. 1
21052931134. 2
21052931135. 3
21052931136. 4

Question Number : 134 Question Id : 2105297920 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Fafafaa Ffa &t srawursll @l uya 9 Sifdq & el o4 H ogaiyd oifae ;

A. T2re
B. WROT
. 'QE‘CJ]H

D, UfdyrRo

-d feu e fa@weal 5 § 981 Sk gHe

1A BCD
A DB C
A CD B
A D CB

O P o

Options:

21052931133. 1
21052931134. 2
21052931135.3

21052931136. 4

Question Number : 135 Question Id : 2105297921 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following muscles based on their origin in a sequence from top to bottom
A. Pectoralis minor

B. Serratus posterior Inferior

C. Coracobrachialis

D. Levator scapulae

Choose the correct answer from the options given below:

1.C,D,Band A
2D, C AandB
3D B Cand A
4 C B AandD

Options :

21052931137. 1
21052931138. 2
21052931139.3

21052931140. 4

Question Number : 135 Question Id : 2105297921 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
FafeRed AiauREl & 30 of WUy 9 Fyw® B8 § ogaiiyd Sife ;

A. UgeRfay AgR

B. Ry R SABINR

C. DROI s3]

D. fefdex T ga

Fid feu e fawedl § 9 U8 IR g

1.C,D, B A
20D CAEB
3.0,BC A
4 CEBAD

Options :



21052931137.1
21052931138. 2
21052931139. 3

21052931140. 4

Question Number : 136 Question Id : 2105297922 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements

Statement I: Paired t-test is used to compare two related means (p; and ;)

Statement ll: The t-test is a method used for inferential statistics

In light of the above statements, choose the most appropriate answer from the options given

below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement |l is incorrect
4, Statement | is incorrect but Statement Il is correct

Options :

21052931141. 1
21052931142. 2
21052931143.3
21052931144. 4

Question Number : 136 Question Id : 2105297922 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options:

21052931141. 1
21052931142. 2
21052931143.3
21052931144. 4

Question Number : 137 Question Id : 2105297923 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as

Reason R

Assertion A: The term fat-free mass and lean body mass are often considered
interchangeable when they should not be

Reason R: The lean body mass contains a small percentage of essential fat stores (perhaps as
much as 3%), chiefly within the central nervous system, the marrow of bones and internal

organs

In light of the above statements, choose the most appropriate answer from the options given

below

1. Both A and R are correct and R is the cerrect explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct



Options :

21052931145. 1
21052931146. 2
21052931147. 3

21052931148. 4

Question Number : 137 Question Id : 2105297923 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options:

1.
2.(
3. (
4.

21052931145.1
21052931146. 2
21052931147. 3

21052931148. 4

Question Number : 138 Question Id : 2105297924 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: For vertical jump, one goes down at first from a standing position
Reason R: Going down from standing position increases the degree of stability

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options:

21052931149. 1
21052931150. 2
21052931151.3

21052931152. 4

Question Number : 138 Question Id : 2105297924 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

1. (A)
2. (A)
3. (A)
4, (A)

21052931149.1
21052931150. 2

21052931151.3



21052931152. 4

Question Number : 139 Question Id : 2105297925 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Female athletes should be allowed to train and compete in any sport during
menstruation, provided that they know that no unpleasant symptoms will occur and that their
performances will not be greatly affected

Reason R: Mild exercise does not appear to have a significant effect on menstrual disorders.
However, heavy, intensive training and competition induce amenorrhea in some athletes
are not very uncommon

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R is false

4. A s false but R is true

Options :

21052931153. 1
21052931154. 2
21052931155.3
21052931156. 4

Question Number : 139 Question Id : 2105297925 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052931153. 1
21052931154. 2
21052931155. 3

21052931156. 4

Question Number : 140 Question Id : 2105297926 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as

Reason R

Assertion A: Speed performance can be improved like strength and endurance by training

Reason R: Speed has a complex nature as it depends on central nervous system to a

considerable degree

In light of the above statements, choose the most appropriate answer from the options given

below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options:

21052931157. 1
21052931158. 2
21052931159. 3

21052931160. 4

Question Number : 140 Question Id : 2105297926 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052931157. 1
21052931158. 2
21052931159. 3
21052931160. 4

Sub-Section Number : 2
Sub-Section Id : 210529301
Question Shuffling Allowed : Yes

Question Id : 2105297927 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (141 to 145)

Question Label : Comprehension

Read the given passage and answer the questions that follow

An experimental study was conducted to know the effect of ayurvedic medicine on the
endurance performance of athletes. For this the researcher randomly divided 150 subjects into
three groups le, experimental (N-50), placebo (N-50) and control (N-50). He framed the
hypothesis that there will a significant improvement in endurance performance due to this
ayurvedic medicine. At the start of the experiment, he conducted a pre-test of all three groups.
After 12 weeks, he conducted a re-test. For the analysis of the data, he used one-way ANOVA
test. The calculated F-value was 4.25 (Table value of F at 0.05 level is 3.06 and 0.01 level is
4.75). For further analysis he used t-test. The calculated t-value between the experimental and
placebo group was 2.10 (table value of t for 98) at 0.05 level is 1.96 and 0.01 level is 2.58)
Further, the calculated value of t between experimental and control group was 2.12. Similarly,
the calculated t value between the placebo and the control group was 1.26.

Sub questions

Question Number : 141 Question Id : 2105297928 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following is/ are correct?

A. A significant difference at the 0.05 level was found between experimental and placebo
group

B. A significant difference at the 0.01 level was found between experimental and placebo
group

C. No significant difference was found between the control and placebo group

Choose the correct answer from the options given below

1. Only A is correct
2. Only A and C are correct
3. Only B is correct
4. Only B and C are correct

Options :

21052931161. 1
21052931162. 2
21052931163. 3

21052931164. 4

Question Number : 142 Question Id : 2105297929 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which type of hypothesis has been taken in the study?

1. Null hypothesis

2. Directional (-ve) hypothesis
3. Directional (+ve) hypothesis
4. Descriptive hypothesis

Options :

21052931165. 1
21052931166. 2
21052931167.3

21052931168. 4

Question Number : 143 Question Id : 2105297930 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is/are correct about the calculated F ratio?
A. F- ratio is significant at 0.05 level

B. F-ratio is significant at 0.01 level

C. F-ratio is not significant at any level

Choose the correct answer from the options given below

1. Only A is correct
2. Only B is correct
3. Only C is correct
4. Only A and B are correc

Options :

21052931169. 1
21052931170. 2
21052931171.3

21052931172. 4

Question Number : 144 Question Id : 2105297931 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following is/ are correct about the variables studied?
A. Endurance is an independent variable

B. Diet (Ayurvedic Medicine) is a dependent variable

C. Endurance is a dependant variable

D. Diet (Ayurvedic Medicine) is an independent variable

Choose the correct answer from the options given below

1. Only A is correct
2. Only B is correct
3. Only A and B are correct
4. Only C and D are correct

Options :

21052931173. 1
21052931174. 2
21052931175.3

21052931176. 4

Question Number : 145 Question Id : 2105297932 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

The degree of freedom between groups and within groups will be

1. 2 and 147
2. 3 and 150
3.3 and 148
4, 2 and 148

Options :

21052931177. 1
21052931178. 2
21052931179. 3

21052931180. 4

Question Id : 2105297927 Question Type : COMPREHENSION Sub Question Shuffling Allowed :



Yes Group Comprehension Questions : No
Question Numbers : (141 to 145)

Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 2105297928 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fFofafead s g wgi e 2
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1. Had A Tel g
2. Had A AR C TRl Bl
3. Paa B TRl &l
4. Haa B AR C TGl 8l

Options :

21052931161.1



21052931162. 2
21052931163. 3

21052931164. 4

Question Number : 142 Question Id : 2105297929 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
=9 AT H Ugd il &1 &I 91 UOR ford 747 7

1. BT UTam el
2. TR APRIED) Uehed
3. PSR (o RED) Tdaad]
4. 3ftfq urem e

Options:

21052931165. 1
21052931166. 2
21052931167.3
21052931168. 4

Question Number : 143 Question Id : 2105297930 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
Fafaiad ¥ & 91 ¥ 0T & 916 f deg & 8 Ugl © ?
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Options :

21052931169. 1
21052931170. 2
21052931171. 3
21052931172. 4

Question Number : 144 Question Id : 2105297931 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052931173.1
21052931174. 2
21052931175. 3
21052931176. 4

Question Number : 145 Question Id : 2105297932 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



g6l & HiaR 2R THET & A8 WWdFdl o1 A 519 -

1. 2 3T 147
2.3 3T 150
3.3 3 148

4. 23R 148
Options :
21052931177.1
21052931178. 2
21052931179. 3

21052931180. 4

Sub-Section Number : 3
Sub-Section Id : 210529302
Question Shuffling Allowed : Yes

Question Id : 2105297933 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (146 to 150)

Question Label : Comprehension



Read the given passage and answer the questions that follow

Research has established that the learning of motor skills is specific. This applies also
to perceptual-motor movement since perception is involved in all voluntary movement except
reflex action. Visual perception is very important in motor learning but information can be
received through the channels of sound, touch, smell, taste and awareness of body position.
In complex motor activity, the senses are used in an integrated manner. In the game of
basketball, for instance, players use vision to shoot a basket, sound to hear the referees touch
to feel the ball and kinesthetic sense to recognise their body position in relation to other
players and the basket.

Effective control of the visual system depends on Visual acuity - the ability to see the objects
clearly; Perceptual constancy - the ability to determine the difference if any, in size, shape and
colour of the object; Depth perception - the ability to have awareness of the distance between
objects; visual tracking - the ability to perceive a moving object.

Auditory, similar to visual perception consists of subskills and there is Awareness - ability to
indicate that there is a sound or not; Discrimination - ability to discriminate between different
tones and frequencies of sounds; Direction - the ability to determine the direction from which
sound is coming and Figure-ground - the ability to distinguish a specific sound from other
noises occurring at the same time.

In the kinesthetic system instead of using an eye or ear to receive information the kinesthetic
system instead of using an eye or ear to receive information the kinesthetic system utilizes
proprioceptors located in joints. Three skills closely related to kinesthetic perception are
Balance - the ability of the individual to position the body in response to gravity; Body
awareness refers to an understanding of the body in space and laterality - the ability to
distinguish between the two sides (left and right) of the body.

Sub questions

Question Number : 146 Question Id : 2105297934 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Bending the body to the right or left while in a standing position is a specific kinesthetic
perception and it is called

1. Directionability
2. Body awareness
3. Laterality

4. Figure-ground



Options :

21052931181. 1
21052931182. 2
21052931183.3
21052931184. 4

Question Number : 147 Question Id : 2105297935 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Recognizing the teacher's whistle from among voices in a physical education class is
depending on a specific auditory perception and that is

1. Discrimination
2. Figure-ground
3. Directionability
4. Body awareness

Options :

21052931185. 1
21052931186. 2
21052931187.3
21052931188. 4

Question Number : 148 Question Id : 2105297936 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Watching a swinging suspended ball is a specific visual perception known as

1. Visual tracking

2. Visual acuity

3. Depth perception

4. Perceptual constancy

Options :

21052931189. 1



21052931190. 2
21052931191. 3

21052931192. 4

Question Number : 149 Question Id : 2105297937 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Perception is involved in all voluntary movement. Identify various sensory inputs that are
related to perception

A. Vision

B. Auditory

C. Kinesthetic
D. Reflex Action
E. Tactile

Choose the correct answer from the options given below

1. A, C, D and E only
2. A B, Cand E only
3.B,C,Dand Eonly
4, A B Cand D only

Options :

21052931193. 1
21052931194. 2
21052931195. 3

21052931196. 4

Question Number : 150 Question Id : 2105297938 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Throwing a ball to the near basket rather than to the far basket is

1. Visual tracking
2. Visual consistency
3. Directionability
4. Depth perception

Options :

21052931197. 1
21052931198. 2
21052931199. 3

21052931200. 4

Question Id : 2105297933 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (146 to 150)

Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 2105297934 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. TG ForTd [direction ability]
2. TRR Gl [body awareness]

3. Ui [laterality ]
4. HIDR Hﬁ[ (Figure-ground)

Options:
21052931181. 1
21052931182. 2



21052931183. 3

21052931184. 4

Question Number : 147 Question Id : 2105297935 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options:

21052931185. 1
21052931186. 2
21052931187.3

21052931188. 4

Question Number : 148 Question Id : 2105297936 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Question Number : 149 Question Id : 2105297937 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Question Number : 150 Question Id : 2105297938 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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